
1) What are the coordinates of the
point marked with a cross?

2) How many pairs of parallel sides 
does a rhombus have?

3) Reflect the square in the mirror line.

4) Write the amounts in ascending order.
£2.32    £2.03    230p    £0.23
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1) Round 3,452 to the nearest 10

2) Write the coordinates of the point that
is needed to make a square.

3) What type of triangle has 2 
equal sides?

4) Divide 6 by 10
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1) Round 23,472 to the nearest 1,000

2) What are the coordinates of the point
marked with a cross?

3) If an angle is 63°, what type of angle is it?

4) Complete the sequence. 

2 
2
3, 3, 3 

1
3,        ,
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1) Write 632,741 in words.

2) Subtract 1,000 from 20,472

3) Describe the translation from triangle A to B.

4) What is 
27
100 as a decimal?
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1) Find the missing number.
64,350 = + 3,000 + 200 + 150

2) Round 40,593 to the nearest hundred.

3) What are the coordinates of the
point marked with a cross?

4) Work out 
9
11 −

4
11
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1) Complete the number sentence using <, > or =.

21,210

2) Round 3,195 to the nearest ten.

3) How many degrees is a right angle?

4) How many seconds are there in 10 minutes?
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1) Round 92,771 to the nearest 10,000

2) Round 8,971 to the nearest 1,000

3) Translate the point (4,9) 3 to the
left and 6 down.

4) Divide 74 by 10
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1) What is the value of the digit 6 in the number
846,327?

2) Write two hundred and twenty thousand,
seven hundred and four in figures.

3) How many lines of symmetry does 
a scalene triangle have?

4) Multiply 14 by 5
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1) Complete the sequence.
117,        , 97,        , 77, 67

2) Add 1,000 to 9,452 and give your answer in words.

3) Estimate the number the arrow is pointing to.

8,000                                           9,000  
4) A book costs £4.50 and a pen costs £2.05

How much do they cost altogether?
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1) Put the following numbers in ascending order.
21,041   20,014   21,014   24,011

2) Complete the number sentence using <, > or =.
3,272        MMMCCLXII

3) If an angle is 175°, what type of angle is it? 

4) Calculate 6 ×4 × 3.
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1) Round 497,607 to the nearest 100,000

2) What is the value of the digit 8 in the number 986,431?

3) Round 8,942 to the nearest 1,000 

4) Work out the missing number.
0.73 = 0.6 +
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CMLIX
1) What is the difference between −6 and 11?

2) Round 94,329 to the nearest 10,000

3) Find the missing numbers.
62,730 = 60,000 + + 1,700 +

4) 8 weeks = days.
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1) Find the difference between −42 and −81?

2) Find the missing numbers in the sequence.
8,792,   8,592,            , 8,192, 

3) Complete the number sentence using <, > or =.
2,431        1,000 + 1,400 + 31 

4) Work out 
4
7 +

2
7
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